LAMC Physical Science 1 Homework #5
This homework is due 10/20
Chs

Matching

c.14(radiation)
e.12(conduction)
f.1(temperature)

i.4(Kelvin Scale)
0.13(convection)

Multiple Choice

1.b

4.c

5.b

6.c

ché

Matching

b.17(speed of sound)
¢.10(electromagnetic spectrum)
d.5(amplitude)

f.8(period)

p.9(wave speed)

Multiple Choice

1.b

2.a



5.d

11.b

Fill in the blank
6.electromagnetic
7.longitudinal
13.natural

Ch7

Matching
d.21(constructive interference)
f.6(refraction)
h.1(reflection)
u.3(law of reflection)
Multiple Choice

1d

4.3

5.b

10.a

12.a
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